Page 1 of 2 BoardDocs® Pro



Agenda Item Details

Meeting Jan 11, 2021 - Regular Meeting

Category 8. Consent Agenda

8.11 ITB 21-02 Custodial Chemicals and Supplies, presented by Vince Windham, Subject

Program Director, Purchasing, and recommended by the Superintendent for

approval.

Public Access

Action (Consent) Type

Fiscal Impact Yes

Budgeted Yes

General Funds, Project 2011 Custodial Services **Budget Source**

Recommended

Motion to approve the committee's recommendation to award ITB 21-02 Custodial Chemicals and Supplies, effective January 14, 2021 through January 13, 2024. Action

Public Content

Request approval of the committee's recommendation to award ITB 21-02 Custodial Chemicals and Supplies to Supreme Paper Supplies, LLC as the Primary Service Provider and to PR Chemical & Paper Supply as the Secondary Service Provider when the Primary Service Provider is unable to fulfill an order request. Goods will be purchased on an as needed basis and based on fixed pricing. Funds will be paid from General Funds, Project 2011 Custodial Services. The three (3) year contract is effective January 14, 2021 through January 13, 2024. Copies of the award tabulation, bid solicitation and addendum to bid are attached.

For additional information, please contact Bill Smith, Program Director, Custodial Services, at (850) 689-7890.

ITB_21-02 Bid Tabulation.pdf (255 KB)

ITB 21-02.pdf (2,276 KB)

ITB 21-02 ADDENDUM.PDF (747 KB)

Administrative Content

Our adopted rules of Parliamentary Procedure, Robert's Rules, provide for a consent agenda listing several items for approval of the Board by a single motion. Documentation concerning these items have been

BoardDocs® Pro Page 2 of 2

provided to all Board members and the public in advance to assure an extensive and thorough review. Items may be removed from the consent agenda at the request of any board member.

Motion & Voting

Motion to approve the Consent Agenda and all of the Consent Agenda items as recommended by the Superintendent

Motion by Diane Kelley, second by Marti Gardner.

Final Resolution: Motion Carries

Yes: Tim Bryant, Linda Evanchyk, Marti Gardner, Diane Kelley, Lamar White



Item #	Item Description	Office Depot, LLC	PR Chemical & Paper Supply	Sam Tell and Son Inc.	Supreme Paper Supplies LLC
	SIGNED BID / SIGNED ADDENDUMS	Yes / Yes	Yes / Yes	Yes / Yes	Yes / Yes
1	Category I : Toilet Tissue, Paper Towels and Hand Soap	\$198,100.00	\$171,500.00	\$827,895.00	\$170,975.00
2	Category II: Floor Care Products - Wax and Strippers	\$60,354.30	\$47,818.20	\$149,833.50	\$48,707.80
3	Category III : General Supplies	\$0.00	\$187,013.30	\$380,837.26	\$164,228.01
4	Internet Web Site	www.officedepot.com	www.pr-supply.com		www.supremepapersupply.com
5	Discount for BOL Items / Catalog Discount Pricing (% off of Current Published Price List)	Per OMNIA Partners City of Tamarac Agreement	30%	No Response	30%

Offers from the vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any are hereby rejected as late.

Noted in Contract: The estimated quantities provided on price sheets are given only as a guideline for preparing for your bid and should not be construed as representing actual quantities purchased under the contract.

Bidders Who Bid "No Bid": Interboro Packaging Corporation

Non-Responsive Bidders:

All American Poly, Central Poly-Bag Corp. and Pyramid School Products - did not bid all items in Category I, II and III. Office Depot, LLC did

not bid all items in Category III

BASIS OF AWARD: All or None by Category to the lowest responsive and responsible bidder, that complies with all provisions of this solicitation. Bidders are required to bid all items within a Category in order to be considered for award of that Category. The District anticipates making award of each Category on the basis of a primary (low bid) and a secondary (next lowest bid) service provider(s). The primary service provider shall be utilized first. If the primary service provider is not able to respond and/or complete an order within specified requirements, the secondary service provider shall be utilized. Should the secondary service provider be unable to respond and/or complete a purchase within the necessary timeframe, the district reserves the right to acquire the goods specified herein from any other source or via any other procurement method deemed by the School Board of Okaloosa County to be in its best interest. A single award for all categories to the overall lowest responsive and responsible bidder may occur if it is deemed to be in the best interest of the Board to do so. The Board reserves the right to waive any informality, to make mathematical correction to error/s in any bid, waive any minor irregularity or technicality in bids received or to reject all bids an re-advertise, with either the identical or revised specifications. After bids are opened and tabulated, the Board reserves the right to delete any item(s) listed within a Category or delete any Category specified herein that in its judgment will be in the best interest of the School District of Okaloosa County.

Recommendation of Award

Committee: <u>Bill Smith, Program Director - Facilities & Custodial Services</u>

Steve Bolton, Program Director - Maintenance Services

Debbie Wyman, Secretary-Custodial Services

Recommendation for Award: Committee recommends award to the overall lowest, responsive and responsible bidders to: Supreme Paper Supplies, LLC as the Primary Service Provider and PR Chemical & Paper Supply as the Secondary Service Provider when the primary service provider is unable to fulfill an order request. Goods will be placed on an as needed basis, based on fixed pricing. The service providers have applied a 30% discount off of current published price list for balance of line items. Note: Item 32 will be deleted from the tabulation and will be ordered through the online catalog if needed. This contract is to be for a three (3) year period commencing on or around January 14, 2021 and ending on January 13, 2024.

FUNDING

<u>Fund Function Object Center Project Amount</u>
1010 7900 510 9006 2011

POSTED: 12/3/2020 3:17PM CT

Category I: Toilet Tissue, Paper Towels and Hand Soap

<u>Item 1: Toilet Tissue</u> Specifications: Item # 410049 Heavenly Choice Jumbo Roll Tissue, Double Layer. Product Description: Jumbo Roll Tissue - 1000' x 3.5" – Double Layer, Core Size: 3.39", Sheet Size: 1000' x 3.5", Ply: Double Layer, Per Case: 12 rolls (or equal) - Estimated Quantity 4000 Cases

<u>Vendor</u>	Brand / Model No. Bidding	Case Size	Unit Price Per Roll	Unit Price Per Case	Extended Total Price
Office Depot, LLC	Solaris Paper Inc / 5131722	12	\$1.7900	\$21.50	\$86,000.00
PR Chemical & Paper Supply	Heavenly Choice #410049	12	\$1.6375	\$19.65	\$78,600.00
Sam Tell and Son Inc	Solaris 23501	12	\$6.9125	\$82.95	\$331,800.00
Supreme Paper Supplies LLC	Supreme GENJRT1000	12	\$1.7380	\$20.86	\$83,440.00

Item 2: Paper Towels Specifications: Item 31638 Heavenly Choice Double Layer. Center Pull Towel - Natural, 750', Double Layer; Product Description: One ply towel, fits dispensers #91000 /91004, cost effective towels are perforated to ensure one-at-a time dispensing, made with 100% recycled fibers. Per Case: 6 rolls (or equal) - Estimated Quantity 4000 Cases

<u>Vendor</u>	Brand / Model No. Bidding	Case Size	Unit Price Per Roll	Unit Price Per Case	Extended Total Price
Office Depot, LLC	Solaris Paper Inc / 5131783	6	\$3.4800	\$20.90	\$83,600.00
PR Chemical & Paper Supply	Heavenly Choice #410082	6	\$2.9583	\$17.75	\$71,000.00
Sam Tell and Son Inc	Tork 120932	6	\$18.1550	\$108.93	\$435,720.00
Supreme Paper Supplies LLC	Supreme CPTK1000	6	\$3.2120	\$19.27	\$77,080.00

Item 3: Hand Soap Specifications: Item # 657641 - 1 Gallon Container, Foaming Hand Soap; Product Description: High foaming Antimicrobial and Antibacterial soap with Triclosan, effective against E. Coli, Staphylococcus Aureus and Serratia Marcescens, leaves hands smelling fresh and clean, contains Lanolin and Aloe Vera, very mild, high foaming. Gallon containers, packed 4 per case (or equal) - Estimated Quantity 500 Cases

	<u>Unit Price Per</u>						
<u>Vendor</u>	Brand / Model No. Bidding	Case Size	Ounce	Unit Price Per Gallon	Unit Price Per Case	Extended Total Price	
Office Depot, LLC	SP Richards/Bet	4	\$0.1100	\$14.25	\$57.00	\$28,500.00	
PR Chemical & Paper Supply	TripleS-kutol #21309	4	\$0.0855	\$10.95	\$43.80	\$21,900.00	
Sam Tell and Son Inc	Synthetic Labs 0807-4	4	\$0.9430	\$30.19	\$120.75	\$60,375.00	
Supreme Paper Supplies LLC	Betco 78104	4	\$0.0408	\$5.23	\$20.91	\$10,455.00	

Category II: Floor Care Products - Wax and Strippers

Item 4: Ultra High Speed Floor Coating Specifications: Floor Coating - High solids formula for ultra high speed applications. Produces a finish so tough that it significantly reduces the frequency of recoating and burnishing; Provides excellent gloss, scuff resistance and long lasting durability; Deep wet-look shine, clear, non-yellowing, self-sealing, classified by UL as to slip resistance only. Color: Milky White, pH: 9.00 ± 0.25. 5-gallon containers (or equal) - Estimated Quantity 50 / 5 Gallon Container

		Unit Price Per 5	
<u>Vendor</u>	Brand / Model No. Bidding	Gallon	Extended Total Price
Office Depot, LLC	Betco Corporation / 6600500	\$67.02	\$3,351.00
PR Chemical & Paper Supply	Spartan UpperLimits #409005	\$59.25	\$2,962.50
Sam Tell and Son Inc	Synthetic Labs BroadShine	\$148.50	\$7,425.00
Supreme Paper Supplies LLC	Betco 65905 Hars as Nails	\$58.30	\$2,915.00

Item 5: Sealer/Finish Low Maintenance Specifications: A 25% solids, metal cross-linked, polymer finish. The finish is detergent resistant, non-scuffing, durable, and maintains its high gloss without burnishing. Suitable for use on all floors; may be maintained by damp mopping. Finish performs exceptionally well with either spray buffing or high speed buffing. Excellent leveling makes it easy to apply. Can be used as a basecoat, gloss building foundation for floor finishes; slip resistant. Five Gallon containers (or equal) - Estimated Quantity 640 / 5 Gallon Container

		Unit Price Per 5	
<u>Vendor</u>	Brand / Model No. Bidding	Gallon	Extended Total Price
Office Depot, LLC	Betco Corporation/6600500	\$67.02	\$42,892.80
PR Chemical & Paper Supply	Spartan Onton #407305	\$55.50	\$35,520.00
Sam Tell and Son Inc	Synthetic Labs BroadShine	\$148.50	\$95,040.00
Supreme Paper Supplies LLC	Betco 69605 Finish 101	\$57.32	\$36,684.80

<u>Item 6: Floor Stripper</u> Specifications: A fast acting, floor finish liquefier will solve stripping difficulties caused by frequent high speed burnishing, super hard urethane fortified finishes, or excessive build-up. The product should be designed to remove layers of floor finish in less time, with less effort, and no rinsing. Based on solvency to dissolve old wax and finish, this stripper will not leave an alkaline residue requiring multiple rinsing. Floors are ready to recoat without neutralizing when used as directed. In many applications, the entire stripping process can be completed without the use of a floor machine and pad. Product will be ammonia free and of low odor. Five Gallon Containers (or equal) - Estimated Quantity 230 / 5 Gallon Container

Unit Drice Der E

		Unit Frice Fer 5	
Vendor	Brand / Model No. Bidding	Gallon	Extended Total Price
Office Depot, LLC	Betco Corporation/1840500	\$61.35	\$14,110.50
PR Chemical & Paper Supp	Ly Spartan Square One #007805	\$40.59	\$9,335.70
Sam Tell and Son Inc	Synthetic Labs Torpedo	\$205.95	\$47,368.50
Supreme Paper Supplies L	LC Betco 15404 AX-IT Plus	\$39.60	\$9,108.00

Category III: General Supplies

Item 7: Chewing Gum & Candle Wax Remover Specifications: Instantly freezes gum, putty and candle wax to - 6° F for easy removal. Does not leave any residue behind; CHA 51 Champion Sprayon Size 5.5 oz., Packed 12 cans/case (or equal) - Estimated Quantity 50 Cases

	<u>Unit Price Per</u>							
<u>Vendor</u>	Brand / Model No. Bidding	Case Size	Ounce	Unit Price Per Can	Unit Price Per Case	Extended Total Price		
PR Chemical & Paper Supply	TripleS Chewing Gum Rem. #05224	12/6oz	\$0.5250	\$3.15	\$37.80	\$1,890.00		
Sam Tell and Son Inc	FMP 143-1022	12/7oz	\$1.7280	\$12.10	\$145.20	\$7,260.00		
Supreme Paper Supplies LLC	ABC 452412PA	12/6oz	\$0.4165	\$2.50	\$29.99	\$1,499.50		

<u>Item 8: Spring Linen Aerosol Spray Air Freshner</u> Specifications: This spring linen air freshener contains Ordenone, an effective deodorizing ingredient, and completely eliminates unpleasant surface and airborne odors. A single spray leaves a clean, fresh scent in the air. Water-based air freshener, no harmful solvents; CHA 5176 Champion Sprayon, Size 15oz. Packed 12 cans/case (or equal) - Estimated Quantity 300 Cases

<u>Unit Price Per</u>							
<u>Vendor</u>	Brand / Model No. Bidding	Case Size	Ounce	Unit Price Per Can	Unit Price Per Case	Extended Total Price	
PR Chemical & Paper Supply	Spartan Xcelente odor Elim#6019	12/16oz	\$0.2156	\$3.45	\$41.40	\$12,420.00	
Sam Tell and Son Inc	Proctor & Gamble Fabreeze	6/8.8oz	\$0.6730	\$5.93	\$35.58	\$21,348.00	
Supreme Paper Supplies LLC	Betco 02423	12/16oz	\$0.1755	\$2.81	\$33.70	\$10,110.00	

Item 9: Furniture Polish Specifications: Deep cleans, polishes and conditions wood surfaces. The smooth, creamy, lemon-scented formula provides instant protection and a wax-free shine, lemon scent. CHA 5136 Champion Sprayon, Size 17oz. Packed 12 cans/case (or equal) - Estimated Quantity 100 Cases

			Unit Price Per			
<u>Vendor</u>	Brand / Model No. Bidding	Case Size	<u>Ounce</u>	Unit Price Per Can	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Spartan Citro Shidd \$6120	12/20oz	\$0.1550	\$3.10	\$37.20	\$3,720.00
Sam Tell and Son Inc	SC Johnson Pledge	6/14.2oz	\$0.7020	\$9.97	\$59.84	\$5,984.00
Supreme Paper Supplies LLC	Betco 06023	12/19oz	\$0.1232	\$2.34	\$28.10	\$2,810.00

Item 10: Bleach, Liquid Specifications: Bleach, regular scent. Sodium Hypochlorite 5.25% that will disinfect, deodorize and remove stains. Gallon containers, packed 4 per case (or equal) - Estimated Quantity 430 Cases

<u>Vendor</u>	Brand / Model No. Bidding	Case Size	Unit Price Per Gallon	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Purebright	6/1gal	\$1.97	\$11.82	\$5,082.60
Sam Tell and Son Inc	KIK Intl 11008635	6/1gal	\$5.75	\$34.50	\$14,835.00
Supreme Paper Supplies LLC	Betco 01523	6/1gal	\$2.18	\$13.10	\$5,633.00

Item 11: Graffiti Remover Specifications: Penetrating solvents will quickly restore surfaces marred by graffiti; Cleans surfaces by removing unsightly scuffmarks and graffiti. Safe on many surfaces, the product may be used in washrooms, on sidewalks, Formica tops, mirrors and building walls. The graffiti remover can work on vandalism-marred surfaces. The gel formulation clings to vertical surfaces for better penetration and removal of embedded graffiti. Left over reside easily flushes away with water. 16 ounce aersol cans, packed 12 cans per case (or equal) - Estimated Quantity 50 Cases

<u>Unit Price Per</u>							
Brand / Model No. Bidding	Case Size	<u>Ounce</u>	Unit Price Per Can	Unit Price Per Case	Extended Total Price		
Triple S Graffiti Rem #05011	12/16oz	\$0.3000	\$4.87	\$58.44	\$2,922.00		
Goof Off	12/160z	\$1.6800	\$26.91	\$322.95	\$16,146.00		
Betco 01523	12/150z	\$0.2194	\$3.29	\$39.39	\$1,974.50		
	Triple S Graffiti Rem #05011 Goof Off	Triple S Graffiti Rem #05011 12/160z Goof Off 12/160z	Brand / Model No. Bidding Case Size Ounce Triple S Graffiti Rem #05011 12/16oz \$0.3000 Goof Off 12/16oz \$1.6800	Brand / Model No. Bidding Case Size Ounce Unit Price Per Can Triple S Graffiti Rem #05011 12/16oz \$0.3000 \$4.87 Goof Off 12/16oz \$1.6800 \$26.91	Brand / Model No. Bidding Case Size Ounce Unit Price Per Can Unit Price Per Case Triple S Graffiti Rem #05011 12/16oz \$0.3000 \$4.87 \$58.44 Goof Off 12/16oz \$1.6800 \$26.91 \$322.95		

Item 12: Wasp Spray Specifications: This quick-acting insecticide kills wasps, hornets and yellow jackets. Quick knock down and kill of insects. Residual activity kills wasps and hornets returning to nest. Has long reach spray or fog. 20 ounce Aerosol Cans, packed 12 per case (or equal) - Estimated Quantity 50

			Unit Price Per			
<u>Vendor</u>	Brand / Model No. Bidding	Case Size	Ounce	Unit Price Per Can	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	TripleS Waspy Spray #EWH1K16	12/16oz	\$0.1250	\$3.76	\$45.12	\$2,256.00
Sam Tell and Son Inc	KnockDown	12/16oz	\$0.7020	\$11.24	\$134.85	\$6,742.50
Supreme Paper Supplies LLC	ABC 460020FA	12/20oz	\$0.1662	\$3.33	\$39.90	\$1,995.00

Item 13: a-g Purple Extra Heavy Duty Stripper Pad 7200 - 12", 15", 17", 18", 19", 20", 24" Specifications: Designed for the heaviest duty stripping task, made with extra heavy denier fiber, more abrasive grit, and more open weave to produce the ultimate stripping pad. For use on machines up to 350 RPM rotary or automatic equipment. 3.375 inch perforated center hole punch out plug 1-inch thick pad, Five (5) pads per case. Americo Dominator Purple Extra Heavy Duty Stripper Pads (or equal) - Estimated Quantity 12" 2 Cases, 15" 2 Cases, 17" 10 Cases, 18" 2 Cases, 19" 2 Cases, 20" 96 Cases, 24" 10 Cases

<u>Vendor</u>	Brand / Model No. Bidding	13a 12"	Case Size	Unit Price Per Each	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Americo #430512		5	\$2.57	\$12.85	\$25.70
Sam Tell and Son Inc	Prime Source 75004425		5	\$3.55	\$17.75	\$35.50
Supreme Paper Supplies LLC	Norton 00618		5	\$1.59	\$7.95	\$15.90
<u>Vendor</u>	Brand / Model No. Bidding	13b 15"	Case Size	Unit Price Per Each	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Americo #430515		5	\$3.73	\$16.85	\$33.70
Sam Tell and Son Inc	Prime Source 75004404		5	\$4.11	\$20.55	\$41.10
Supreme Paper Supplies LLC	Norton 51612		5	\$1.99	\$9.96	\$19.92
		40.4=11	2 2			
<u>Vendor</u>	Brand / Model No. Bidding	13c 17"	Case Size	Unit Price Per Each	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Americo #430517		5	\$4.10	\$20.51	\$205.10
Sam Tell and Son Inc	Prime Source 75004434		5	\$5.27	\$26.33	\$263.30
Supreme Paper Supplies LLC	Norton 52002		5	\$2.24	\$11.22	\$112.20
Vendor	Brand / Model No. Bidding	13d 18"	Case Size	Unit Price Per Each	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Americo #430518	100 10	5	\$4.29	\$21.46	\$42.92
Sam Tell and Son Inc	Prime Source 75004338		5	\$5.76	\$28.78	\$57.56
Supreme Paper Supplies LLC	Norton 52003		5	\$2.59	\$12.97	\$25.94
				,		
<u>Vendor</u>	Brand / Model No. Bidding	13e 19"	Case Size	Unit Price Per Each	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Americo #430519		5	\$4.60	\$23.00	\$46.00
Sam Tell and Son Inc	Prime Source 3M 730019		5	\$26.66	\$133.30	\$266.60
Supreme Paper Supplies LLC	Norton 52004		5	\$2.91	\$14.55	\$29.10
Vendor	Brand / Model No. Bidding	13f 20"	Case Size	Unit Price Per Each	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Americo #430520	131 20	<u> </u>	\$4.94	\$24.66	\$2,367.36
Sam Tell and Son Inc	Prime Source 3M 61500035		5	\$15.89	\$79.45	\$7,627.20
Supreme Paper Supplies LLC	Norton 52005		5	\$2.68	\$13.41	\$1,287.36
Supreme raper Suppires inc	NOTEON 32003		, j	Q2.00	913.41	91,207.30
Vendor	Brand / Model No. Bidding	13g 24"	Case Size	Unit Price Per Each	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Americo #430324		5	\$10.25	\$51.25	\$512.50
Sam Tell and Son Inc	Prime Source		5	\$36.35	\$181.75	\$1,817.50
Supreme Paper Supplies LLC	Norton 00965		5	\$4.69	\$23.45	\$234.50

Item 14: Dust Mop Handle Specifications: Wooden, 5ft. Long with metal attachment for frame. Packed Each - Estimated Quantity 24 Each

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Each	Extended Total Price
PR Chemical & Paper Supply	Triple S #37378	\$6.83	\$163.92
Sam Tell and Son Inc	Carlisle 4585000	\$18.50	\$444.00
Supreme Paper Supplies LLC	Supreme 01406	\$5.41	\$129.84

Item 15: Dust Mop Frame, 24" Specifications: 24" by 5" Stainless Steel Frame. Packed Each - Estimated Quantity 25 Each

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Each	Extended Total Price
PR Chemical & Paper Supply	Triple S #37373	\$2.50	\$62.50
Sam Tell and Son Inc	Carlisle 4167200	\$7.36	\$184.00
Supreme Paper Supplies LLC	Supreme 24524	\$2.54	\$63.50

Item 16: Dust Mop Head, 24" Specifications: 24" x 5-1/4" Cotton Blend Dust Mop Head. Packed Each - Estimated Quantity 25 Each

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Each	Extended Total Price
PR Chemical & Paper Supply	Triple S #37291	\$6.31	\$157.75
Sam Tell and Son Inc	Carlisle 3647524	\$11.20	\$280.00
Supreme Paper Supplies LLC	Supreme 13524W	\$5.37	\$134.25

Item 17: Dust Mop Frame, 36" Specifications: 36" by 5" Stainless Steel Frame. Packed Each - Estimated Quantity 50 Each

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Each	Extended Total Price
PR Chemical & Paper Supply	Triple S #37375	\$2.99	\$149.50
Sam Tell and Son Inc	Carlisle 4167300	\$9.70	\$485.00
Supreme Paper Supplies LLC	Supreme 24536	\$3.27	\$163.50

Item 18: Dust Mop Head, 36" Specifications: 36" x 5" Cotton Blend Dust Mop Head. Packed Each - Estimated Quantity 25 Each

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Each	Extended Total Price
PR Chemical & Paper Supply	Triple S #37293	\$8.85	\$221.25
Sam Tell and Son Inc	Carlisle 3647536	\$15.30	\$382.50
Supreme Paper Supplies LLC	Supreme 13536W	\$6.37	\$159.25

<u>Item 19: Dust Pan, Lobby 30"</u> Specifications: Vinyl-coated, metal handle. Built-in recess on the back of the pan allows emptying without touching the pan bottom. Yoke and handle assembly features larger, quieter, hinge pins. Wheels and wear pads on the back of the pan provide long product life. Lightweight plastic construction reduces the risk of back strain. 12 - 1/2" wide dust bin. Overall length 37", Black (or equal) - Estimated Quantity 50 Each

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Each	Extended Total Price
PR Chemical & Paper Supply	Impact #2600	\$8.81	\$440.50
Sam Tell and Son Inc	Carlisle 36141	\$16.54	\$827.00
Supreme Paper Supplies LLC	Supreme DP-13	\$7.10	\$355.00

Item 20: a-d Nitro Gloves, Small, Medium, Large, X-Large Specifications: Disposable, Amercare Powder Free Nitrile Gloves, 100 per box - Estimated Quantity / Small, Medium, Large and X-Large 1000 Boxes Each Size

Vandar	Prond / Model No. Pidding	20 a Small	Pay Siza	Unit Price Per Box	Extended Total Brice
<u>Vendor</u>	Brand / Model No. Bidding	20 a Siliali	Box Size	<u> </u>	Extended Total Price
PR Chemical & Paper Supply	* see below notes Impact 8644S		100	\$10.58	\$10,580.00
Sam Tell and Son Inc	Safety Zone GNPR-SM		100	\$19.50	\$19,502.00
Supreme Paper Supplies LLC	Supreme Small Vinyl Glove		100	\$7.22	\$7,220.00
Vendor	Brand / Model No. Bidding	20 b Medium	Box Size	Unit Price Per Box	Extended Total Price
PR Chemical & Paper Supply	* see below notes Impact 8644M		100	\$10.58	\$10,580.00
Sam Tell and Son Inc	Safety Zone GNPR-MD		100	\$19.50	\$19,502.00
Supreme Paper Supplies LLC	Supreme Medium Vinyl Glove		100	\$7.22	\$7,220.00
<u>Vendor</u>	Brand / Model No. Bidding	20 c Large	Box Size	Unit Price Per Box	Extended Total Price
PR Chemical & Paper Supply	* see below notes Impact 8644L		100	\$10.58	\$10,580.00
Sam Tell and Son Inc	Safety Zone GNPR-LG		100	\$19.50	\$19,502.00
Supreme Paper Supplies LLC	Supreme Large Vinyl Glove		100	\$7.22	\$7,220.00
<u>Vendor</u>	Brand / Model No. Bidding	20 d X-Large	Box Size	Unit Price Per Box	Extended Total Price
PR Chemical & Paper Supply	* see below notes Impact 8644XL		100	\$10.58	\$10,580.00
Sam Tell and Son Inc	Safety Zone GNPR-XL		100	\$19.5020	\$19,502.00
Supreme Paper Supplies LLC	Supreme X Large Vinyl Glove		100	\$7.22	\$7,220.00

<u>Item 21: Liners, Trash Can, 20-30 Gallon</u> Specifications: Natural Clear Liners, high density medium usage. 8.0 mics thick, 20-30 gallons, size 30" W x 37" D, 500 count per case. - Estimated Quantity 1, 300 Cases - Minimum Case Weight 11.9lbs.

<u>Vendor</u>	Brand / Model No. Bidding	Case Size	Case Weight	Unit Price Per Each	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Republic #N303708CRT	550	12.71bs	\$0.0279	\$13.99	\$18,187.00
Sam Tell and Son Inc	Berry Plastics VLH 3037		10 Microns	\$0.0652	\$32.60	\$42,380.00
Supreme Paper Supplies LLC	Inteplast 30378N	500	11.81bs	\$0.0348	\$17.39	\$22,607.00

Item 22: Liners, Trash Can, 40-45 Gallon Specifications: Natural Clear Liners, high-density medium usage. 12.0 mics thick, 40-45 gallons, size 40" W x 48" D, 250 count per case. - Estimated Quantity 1,350 Cases - Minimum Case Weight 15.5lbs.

<u>Vendor</u>	Brand / Model No. Bidding	Case Size	Case Weight	Unit Price Per Each	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Repulic #N404813CR	250	16.11bs	\$0.0754	\$18.85	\$25,447.50
Sam Tell and Son Inc	Berry Plastic HD386022	150	22 Microns	\$0.3130	\$47.00	\$63,450.00
Supreme Paper Supplies LLC	Inteplast 4048N	250	15.57lbs	\$0.0730	\$18.24	\$24,624.00

Item 23: Liners, Trash Can, 45-44 Gallon Specifications: 45 x 55. 1.5 mils thick; Star seal bottom helps prevent leakage. Made from high-quality blended resins for superior strength and puncture resistance super/extra heavy grade for heaviest cleanup jobs in warehouse, cafeteria or facility grounds; 100 count per case. - Estimated Quantity 1, 200 Cases. - Minimum Case Weight 24.7lbs.

<u>Vendor</u>	Brand / Model No. Bidding	Case Size	Case Weight	Unit Price Per Each	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Republic #CR4455150B	100	251bs	\$0.2488	\$24.68	\$29,616.00
Sam Tell and Son Inc	Poly Pak LIN46CXH	100	1.65MIL	\$4.2800	\$42.80	\$51,360.00
Supreme Paper Supplies LLC	Inteplast 404515	100	24.31bs	\$0.2296	\$22.96	\$27,552.00

Item 24: Liners, Trash Can, 60 Gallon Specifications: 38 x 60 Super Heavy 1.5 mils thick. Star steal bottom helps preveent leakage. Made from high-quality blended resins for superior strength and puncture resistance super/extra heavy grade for heaviest cleanup jobs in warehouse, cafeteria or facility grounds; 100 count per case. - Estimated Quanity 1,200 Cases - Minimum Case Weight 22.8lbs

<u>Vendor</u>	Brand / Model No. Bidding	Case Size	Case Weight	Unit Price Per Each	Unit Price Per Case	Extended Total Price
PR Chemical & Paper Supply	Republic #CR3860150D	100	23.61bs	\$0.2275	\$22.75	\$27,300.00
Sam Tell and Son Inc	Poly Pak LIN 58XH	100	1.75ML	\$3.3000	\$33.00	\$39,600.00
Supreme Paper Supplies LLC	Inteplast 386015	100	22.11bs	\$0.1975	\$19.75	\$23,700.00

Item 25: Bucket Mop 35-Quart with Wringer Specifications: 35-qt. capacity bucket; High -efficiency wringer, non-marking casters; Constructed of tubular steel and structural web molded plastic; for up to 32oz. Mop heads. Model Rubbermaid RCP 7580 (or equal) - Estimated Quantity 25 Each

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Each	Extended Total Price
PR Chemical & Paper Supply	Impact #74/2636	\$44.50	\$1,112.50
Sam Tell and Son Inc	Stanton MBC-35	\$63.80	\$1,595.00
Supreme Paper Supplies LLC	Continental 335-312	\$46.40	\$1,160.00

Item 26: Mop Handle Specifications: Latch style swing-away bar with roller adjustment knob. Fiberglass shaft; Should fit rayon mop heads 20oz. and 32oz. - Estimated Quantity 25 Each

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Each	Extended Total Price
PR Chemical & Paper Supply	Snee # TM4510	\$8.25	\$206.25
Sam Tell and Son Inc	Carlisle 4166402	\$25.00	\$625.00
Supreme Paper Supplies LLC	Supreme 01206	\$7.34	\$183.50

Item 27: Mop Head, Long Staple Rayon, 20 oz. Specifications: Rayon Mop head made with blended rayon. 4-Ply highly absorbent, bright white; must be indivdual poly sleeve. Length needs to be 16" and approximately 1.5lbs. Each in weight. Crystal Lake (or equal) - Estimated Quantity 400 Heads

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Head	Extended Total Price
PR Chemical & Paper Supply	Triple S #36552	\$3.58	\$1,432.00
Sam Tell and Son Inc	Impact 566120	\$9.80	\$3,920.00
Supreme Paper Supplies LLC	Supreme 30020	\$3.68	\$1,472.00

Item 28: Mop Head, Long Staple Rayon, 24 oz. Specifications: Rayon Mop Head made with blended rayon. 4 -ply highly absorbent, bright white; must be individual poly sleeve. Length needs to be 16" and approximately 1.5lbs. Each in weight. Crystal Lake (or equal) - Estimated Quantity 400 Heads

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Head	Extended Total Price
PR Chemical & Paper Supply	Triple S #36557	\$4.18	\$1,672.00
Sam Tell and Son Inc	Impact 561124	\$10.96	\$4,384.00
Supreme Paper Supplies LLC	Supreme 30024	\$4.43	\$1,772.00

Item 29: Mop Head, Long Staple Rayon, 32oz. Specifications: Rayon Mop head made with blended rayon. 4-ply highly absorbent, bright white, must be individual poly sleeve. Length needs to be 16' and approximately 1.5lbs. Each in weight. Crystal Lake (or equal) - Estimated Quantity 400 Heads

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Head	Extended Total Price
PR Chemical & Paper Supply	Triple S #36562	\$5.47	\$2,188.00
Sam Tell and Son Inc	Carlisle 36908200	\$7.98	\$3,192.00
Supreme Paper Supplies LLC	Supreme 30032	\$5.66	\$2,264.00

Item 30: Push Broom, W/out Handle, 24" Specifications: 24" Floor brush w/out handle nylon bristles malish; Prospector # 16224 (or equal) - Estimated Quantity 50 Heads

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Broom	Extended Total Price
PR Chemical & Paper Supply	Boardwalk #BWK 20224	\$10.50	\$525.00
Sam Tell and Son Inc	Carlisle 36219324	\$12.27	\$613.50
Supreme Paper Supplires LLC	Supreme 12007	\$6.24	\$312.00

Item 31: Push Broom, W/out Handle, 36" Specifications: Floor Brush w/out handle, 36", nylon bristles. Flo-Pac #20 (or equal) - Estimated Quantity 25 Heads

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Broom	Extended Total Price
PR Chemical & Paper Supply	Boardwalk # BWK 20136	\$19.95	\$498.75
Sam Tell and Son Inc	Carlisle 362193603	\$25.88	\$647.00
Supreme Paper Supplies LLC	Supreme 12009	\$13.22	\$330.50

Item 32: Push Broom, W/out Handle, 48" Specifications: Floor Brush w/out handle, 48", nylon bristles. Flo-Pac #20 (or equal) - Estimated Quantity 25 Heads

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Head	Extended Total Price
Supreme Paper Supplies LLC	Supreme 485	\$13.26	\$331.50

Item 33: Push Broom, Handles Specifications: Wood w/metal threads, Lacquered, 5 Ft., Flo-Pac (or equal) - Estimated Quantity 25 Handles

<u>Vendor</u>	Brand / Model No. Bidding	Unit Price Per Handle	Extended Total Price
PR Chemical & Paper Supply	RJ Shinner #RJ01123	\$4.12	\$103.00
Sam Tell and Son Inc	Carlisle 362005500	\$8.92	\$223.00
Supreme Paper Supplies, LLC	Supreme 140860	\$2.73	\$68.25

Pack

<u>Vendor</u>

Item 34: Screw on Mop Handles Specific	cations: Plastic coated metal screw lay-flat	handle 60" x 1 1/8" - Estimated Quantity	100 Handles	
Vendor	Brand / Model No. Bidding		Unit Price Per Handle	Extended Total Price
PR Chemical & Paper Supply	RJ Sinner #RJ01210NBE		\$4.66	\$466.00
Sam Tell and Son Inc	Carlisle 362019414		\$7.20	\$720.00
Supreme Paper Supplies LLC	Supreme 012010		\$3.82	\$382.00
Item 35: a.d. Screw on Mon Heads in Ou	unces Specifications: Rayon lay flat screw	on mon head 16oz 20oz 24oz 32oz -	Estimated Quantity 16oz. 100 Heads, 20oz. 100 He	ads 24oz 100 Heads and
32oz. 100 Heads	moos openinguione. Trayen lay hat solev	7 011 110p 110dd 1002., 2002., 2402., 0202.	Estimated Quartity 1002. 100 Houds, 2002. 100 He	uus, 2402. 100 110uus, unu
<u>Vendor</u>	Brand / Model No. Bidding	35 a 16 oz.	Unit Price Per Each	Extended Total Price
PR Chemical & Paper Supply	Impact #61116		\$6.48	\$648.00
Sam Tell and Son Inc	Impact #61116		\$11.12	\$1,112.00
Supreme Paper Supplies LLC	Supreme 32016		\$3.81	\$381.00
<u>Vendor</u>	Brand / Model No. Bidding	35 b 20 oz.	Unit Price Per Each	Extended Total Price
PR Chemical & Paper Supply	Impact #61120		\$7.15	\$715.00
Sam Tell and Son Inc	Impact #40120		\$11.63	\$1,163.00
Supreme Paper Supplies LLC	Supreme 32020		\$3.98	\$398.00
<u>Vendor</u>	Brand / Model No. Bidding	35 c 24 oz.	Unit Price Per Each	Extended Total Price
PR Chemical & Paper Supply	Impact #61124		\$8.51	\$851.00
Sam Tell and Son Inc	Impact #61240		\$13.19	\$1,319.00
Supreme Paper Supplies LLC	Supreme 32024		\$4.77	\$477.00
	B 1/14 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	25 122		
<u>Vendor</u>	Brand / Model No. Bidding	35 d 32 oz.	Unit Price Per Each	Extended Total Price
PR Chemical & Paper Supply	Impact #61132		\$10.06	\$1,006.00
Sam Tell and Son Inc	Impact #70132		\$14.99	\$1,499.00
Supreme Paper Supplies LLC	Supreme 32032		\$5.81	\$581.00

PACK SIZE

PER EACH

PER CASE

EXTENDED PRICE

	TOTAL FOR CATEGORY I - TOILET TISSUE, PAPER TOWELS AND HAND SOAP	
Central Poly-Bag Corp.	Did not bid all items in Category I	\$0.00
Office Depot, LLC		\$198,100.00
PR Chemical & Paper Supply		\$171,500.00
Pyramid School Products	Did not bid all items in Category I	\$0.00
Sam Tell and Son Inc		\$827,895.00
Supreme Paper Supplies LLC		\$170,975.00
	TOTAL FOR CATEGORY II - FLOOR CARE PRODUCTS - WAX AND STRIPPERS	
Office Depot, LLC		\$60,354.30
PR Chemical & Paper Supply		\$47,818.20
Pyramid School Products	Did not bid all items in Category II	\$0.00
Sam Tell and Son Inc		\$149,833.50
Supreme Paper Supplies LLC		\$48,707.80
	TOTAL FOR CATEGORY III - GENERAL SUPPLIES	
All American Poly	Did not bid all items in Category III	\$0.00
-		\$0.00
Central Poly-Bag Corp.	Did not bid all items in Category III	\$0.00
Office Depot, LLC	Did not bid all items in Category III	
PR Chemical & Paper Supply		\$187,013.30
Pyramid School Products	Did not bid all items in Category III	\$0.00
Sam Tell and Son Inc		\$380,837.26
Supreme Paper Supplies LLC		\$164,228.01

<u>Vendor</u>		<u>Discount for BOL Items / Catalog Discount Pricing (% off of Current Published Price List)</u>
Office Depot, LLC	*Office Depot's response is contingent upon the District's acceptance of pricing, terms and conditions as set forth in the OMNIA PARTNERS City of Tamarac Master Agreement #19-12R. The terms and conditions set forth in the OMNIA PARTNERS City of Tamarac Master Agreement #19-12R are the only terms and conditions applicable to this bid.	*Per OMNIA Partners City of Tamarac Agreement
PR Chemical & Paper Supply	Excludes Office supplies including copy paper, food service items, and equipment. All of which are 25% off. * Item 20: a-d Nitro gloves, Small, Medium, Large and X -Large were a no bid due to the ongoing availability issues & pricing increases concerning the Sars-Cov-2 pandemic's effect on the nationwide supply chain. They will however, be included in the BOL 30% off of list pricing, as we have had access to them throughout this year.	30%
Sam Tell and Son Inc	Varies by Brand - Available on case by case basis	No Response